D510425T(A602065)
Replacement Parts/Repuestos/Piéces de rechange

D510425T (VA)
1 . Index Button/ Indicador de temperatura/Repére de température A206211
2. Screw(3/16" - 24 * 1" L)/ Tornillos (3/16 pulg. - 24 * 11/16 pulg. L)/Vis (3/16 po - 24 * 11/16 po L) A008517
3 . Metal Handle Assembly/Ensamblaje de manija metélicas/Assemblage de manette en métal A602073
4 . Screw (3/16" - 24 * 2-15/16" L)/ Tornillos (3/16 pulg - 24 * 2-15/16 pulg. L)/Vis (3/16 po - 24 * 2-15/16 po L) A075143
5 . Escutcheon/ Escudo/Ecusson A006493-50
6 . Sleeve/ Manga/Manchon A041714

Need Help? Please call our toll-free Customer service line at 1-888-328-2383 or WWW.DANZE.COM for additional assistance or service.

Requiere asistencia? Favor llamar a nuestro servicio a clientes sin costo al 1-888-328-2383 0 WWW.DANZE.COM para asistencia adicional o servicio.

Besoin d’aide? Vevillez communiquer avec notre service d la clientéle au numéro sans frais 1-888-328-2383 ou WWW.DANZE.COM pour obtenir du

service ou de l'aide additionnels.




